3 (Sem-3) STS
2019

STATISTICS
( General )
Full Marks : 40

Time : 2 hours

The figures in the margin indicate full marks ~
Jor the questions

Answer either in English or in Assamese
1. Answer the following as directed : - 1x4=4
| (a) Define multiple correlation coefficient.
T R BRI TR e

(b) Net Reproduction Rate < Gross
Reproduction Rate.
( Write True or False )
UFS T T < Lo AT FH |
( 7@ & =TS forr )

{c) "Regression coefficient byy =byy.
) ( Write True or False )
TARRT BT byy = byy .
( 79 1 =79 ot )

(d) The sign of regression coefficient is
as that of correlation coefficient.

( Fill in the blank )
TR 8 R oz %3, T gae@
foz___ =3 ( 415 312 o7 31 )
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2. Answer the following questions :

3.

(2)

2x3=6

oY TPROR TeT 91

(@)

(b)

(c)

Explain survival rate.
SR IR T T amm w00

Define specific death rate.
RRE JorR I 7w B

Show that the correlation coefficient is
the geometric mean’ of two regression
coefficients.

G4SN @ TR BIF PR BTNGT MYGOIA
2l TR QN A | |

Answer any two questions from the

following :

5x2=10

o) R It 4o1 o] ey 791

(@)

(b)
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Obtain the equation of the line of
regression of Y on X.

X-3 SRS Y-I AMRH QIOFE AN
tforea :

When are two attributes said to
be (i) positively associated and
(i) negatively associated? Also define
complete association and dissociation of
two attributes.

T @9 I THR TS () QNGT T
(i) IIT TTE @ I om @R = W
B8R WA T ATR I/ AF T Hwm
Ay e fami o

( Continued )

()

(@

(3)

Show that (with usual notations)
(43 @ (31633 IZ© PBFR)

1 _R21.23 =(1- r%2 )@- r123.2)
Write short notes on (any two) :
R e o o G foran

() Uses of %2-statistic
%2 -efofas JFFR
(i) Type-l error
aw cat RfE &
- (iii) Stationary population
By s

4. Answer any two questions from the

following :

10x2=20

word R e o o Ted 9 :

(@)

(b)
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Describe the various columns of a life

table. Explain how a life table can be

constructed on the basis of given g,

values.

Fopf Qi SIfePR BPTR I91 91 1 g, I TW-

@R i e Qe o/ 9w @t

FE, AWM

(i Define F-statistic. State its uses in
Statistics. 2+5=7
Faforfas ) T <R Reme
WY IRYIAR TES F91 |

(i) Define parameter and statistic. 3

oiroe e aifveferg et fiean o
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(4)

(c) Write notes on any two of the following :

5x2=10

TR R @ PR eowe R B

)
@)

(iti)

@)
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Sources of vital statistics
ce +iferan o Rftw S

Effect of change of origin and scale
on regression coefficient

TR BT SRS T Ry W oy

T ARIGR ool

Difference between CDR and STDR
CDR 9I¥ STDR I WS 193y

From the following table, compute
the test statistics for testing the
independence of two attributes
Aand B :

A 9% B-T @9 3| TFE FOLO! 1
TR I@ oHe fim SRR o[l &

afemfe e :
A Al A2 Total
B
B 10 30 40
By 18 52 70
Total 28 82 110

What do you mean by degrees of
freedom?

T3 W 3o 7 w2

* % %
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